
Example ��. Suppose the RREF of the augmentedmatrix of a system of linear equations is

�� � −� �
� � � ��

What is the corresponding system? What are the leading variables? What are the free variables? What are the
solutions of this system?

● Possible outcomes for a system of linear equations:

�. �. �.

Example ��. Consider the following system of equations:

x + y − �z = �
−x + ��z = −�

�x + �y + �z = �
a. Form the augmentedmatrix for this system.
b. Solve this system by putting its augmentedmatrix into RREF.

�

x y z

system : X t 4y - Z = 0 Leading variables : a

O = I free variables : y , z

solutions : NONE ! System is inconsistent, since it requires 0=1

unique solution infinitely many solutions no solutions
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§ ! ) leading variables : x ,y
Free variables : z

RREF
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